
 11.427 
 30.364 

 30.369 

NOTES: 
QTY 1 OF OS637 PER 8 UNITS.1.

A
A
A

REV. BY DATE DESCRIPTION

A CRB 6/23/2016 ADDED OA660, HD10027 WAS HD10045, OA128 WAS OA140

ITEM NO. PART NUMBER DESCRIPTION WITH SHIPPING/QTY.
1 HD10043 WASHER, FLAT, 5/16, ZINC FINISH 8
2 HD10046 NUT, NYLON INSERT LOCK / NYLOCK, 5/16"-18 GRADE 2, ZINC 4
3 HD10052 WASHER, FENDER, 3/16 x 1" O.D. 4
4 HD10058 NUT, NYLOCK, 10-32 4
5 HD10276 SCREW, SQUARE PAN HEAD, SELF DRILLING, #10-16 x 1". ZINC 4
6 HK119 HARDWARE PACK, PANEL FAN, WITH CHAIN 1
7 MC12165 Venturi, 24" Panel Fan 1
8 OA215 LABEL, SERIAL NUMBER 500/ROLL  2
9 PP10404 3" x 3" UPC Labels - (2,000 per Roll), 6 rolls per case 1
10 VR12CF MOTOR, 1/2HP, 230/460V, 825/715 RPM 3 PH 1
11 VRB24G4058 BLADE, 24" 40 DEGREE, 3 WING,CW, 5/8" BORE GALVALUM 1
12 VRGM24BIRD GUARD, 24" BIRD FAN, GREEN  1
13 OA128 Decal, J&D Mfg., 1.375" x 3.75", (08K) 2
14 HD10027 BOLT, HEX, 5/16-18 X 1"     4
15 OA660 Decal, Warning "remove & discard motor drain plug" 1
16 OB119B BOX,24" ES SHUTTER FAN MOTOR INSERT ONLY (50.5" X 8") 1
17 OB501 BOX,24" OPEN GUARD PANEL FAN, 31" X 31.08" x 13.08" 1
18 OS637 Pallet, 40" Wide x 48" Long 1

TITLE:

THIS DRAWING IS THE PROPERTY OF J&D MANUFACTURING AND ALL THE INFORMATION THEREIN
IS CONFIDENTIAL AND  MUST NOT BE MADE PUBLIC, NOR USED TO THE DISADVANTAGE OF J&D 

MANUFACTURING AND IS SUBJECT TO RETURN ON DEMAND.

DRAWN

NCO

DATE

8/4/2015
OF

DRAWING NUMBER

IMPLIED TOLERANCE

X.X

X.XX

X.XXX

∠ ±0.5°

±0.010

±0.020

SHEET

1 1 VP243A

PANEL FAN, 24" DD 230/460V 1/2HP 3PH 3 GALV BLADE

MATERIAL:

(ALL DIMENSIONS ARE IN INCHES 
UNLESS OTHERWISE NOTED)

CHECKED DRAFTER QC ENG. MGR.

SHEET 
SIZE:

WEIGHT:
77.786 LBS

±0.040

B


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


